SDC—2000G

VERSION 2005095




SDC—2000G HARDWARE TLLUSTRATION SHERT

%X::

\

>
(@)

\

=
S

=
2

<

X

o

>
w ©
® K

@
—_

©

. 1/2” ROUND END CAP WASHER-—-[64PCS]
. 3/8” ROUND END CAP WASHER———[8PCS]

Qty.

. 1/2"X6 1/4” HEX HEAD BOLT————[2PCS]
. 1/2"X5” HEX HEAD BOLT——————— [BPCS]
. 1/2"X3 1/4” HEX HEAD BOLT-——-[10PCS]
. 1/2°X2 1/4” HEX HEAD BOLT————[6PCS]
. 1/2"X1" HEX HEAD BOLT——————— [4PCS]
. 7/16"X1 1/2” ROUND BOLT—————-— [RPCS]
. 1/27X1 1/2° HEX HEAD BOLT-——-[2PCS]
. 3/8"X4 3/4” HEX HEAD BOLT————[4PCS]
10L.B PIN-~—————F——————————— [RPCS]
1/2"X3” HEX HEAD BOLT-—————- [RPCS]
1/2"X2" HEX HEAD BOLT-—————- [4PCS]
STEEL CHAIN—————————————— [1PCS]

. 1/2” NYLON LOCK NUT-——————- [32PCS]
. 3/8” NYLON LOCK NUT———————— [4PCS]
. 1/2” LOCK NUT————————————~— [2PCS]
. 3/8” (I.D) WASHER—————————— [4PCS]
. 1/2” (I.D) WASHER—————————— [RPCS]
. 1/2”7 SPRING WASHER————————— [RPCS]

A10 A1l Al2
B2 B3
e @
CR C3 C4 CH
© &
1 2

D1.
D2.
D3.
D4.
D5.
D6.
D7.
D8.
D9.

D10.
D11.
D12.
D13.
D14.
D15.
D16.

Qty.
1/2” BOLT CAP ————————————————— [72PCS]
2”X4” END CAP (9211-014) ~—————————— [2PCS]

#5/8” ROUND END CAP (9211-015)—————— [6PCS]
2”X4” FOOT CAP (9211-028)
60X50 NYLON BUSHING (9211—033)
$3/4” SHAFT COLLAR (9211-050)——————— [4PCS]
2”X2” RUBBER DOUNT (9212—-010)
94 1/2°X25L PULLEY (9213010+8530006)——[10PCS]
®4 1/2”X50L PULLEY (9213010+8530005)-—-[6PCS]

94" RUBBER DONUT (9310-017) ——————— [4PCS]
$31.8 ROUND END CAP (9211-023)-————~— [2PCS]
STIRRUP HANDLE (8290-002)————————~ [”PCS]
CHROME TOP PLATE (8400-002)——————~— [2PCS]
WEIGHT SELECTOR BAR (8220-061)-————- [2PCS]
SPRING SNAP LINK (8810-001)———————= [3PCS]
STEEL CABLE ——————————————————— [RPCS]




SDC—2000G

PARTS ILLUSTRATION SHERT

A [1PCS]

H [2PCS]

%
\V;

E [2PCS]

™

G [2PCS]

L/

PAGE 2




SDC—2000G

%

A T\

o | cox

D6X4

6X3
S

—
g

N\ ) & e

lh
N

llllll a9
Z | v

i
/L




SDC—-2000G

PAGE 4




SDC—2000G

O

PAGE 5




SDC—2000G

16PCS

20X3tX25L

PAGE 6




	SDC-2000G-P00.pdf
	SDC-2000G-P01.pdf
	SDC-2000G-P02.pdf
	SDC-2000G-P03.pdf
	SDC-2000G-P04.pdf
	SDC-2000G-P05.pdf
	SDC-2000G-P06.pdf

